X W T T7 R&EH60E M Lo KEE
wREcH 20204211 H09H HigH
& 5 WAGEHH L PV —2 57 6,470 Yard Par 72

FHE: AR 7ER

[ZazDE]

IIE sz CEXE TR
& B EAR 396
EER ARA 405

3L AEIER 406
AfsL KHR 409
5 N 413
613 T4 418
7451 A 423
81 FHE 424
9fsz =1RIR 429

1043z =pyr 430

11432 AR )11 432

124iz Bff | 432

1343z KB 436

14431 KR 438

1543 X5 473

(> hOH]

IIE 42 R Ba
& B KHE 363.4
EEBE FE= 364.8

3L mAR 366
¥iva MASIL 367.8
5{ T4 368.2
613 Bt 368.8
7L ARE 1| 372.2
8L =R 373
9L K 378

10431 ) 378

1141 =N 378.2

1241 155 393.8

AFYZ KHER HHESE# ouT 35 IN 38  GROSS 73

N JEDFER ouT 36 IN 37 GROSS 73




X E AP TN T KE60E L Lo KWK
fHCE S 202048 11H090 AIEE
& 5 WERERH S M) —2 57 6,470 Yard Par 72

TOTAL | JBfL | TOTAL | NET TOTAL | JEfiZ | TOTAL| NET
EAR KHER
396 1 409 4 13634 1
K 4% OUT | IN |TOTAL |HDCP| NET K 4 OUT| IN |TOTAL|HDCP| NET
E 3 F BB 36 | 37 73 *| 1.2 |718 £ B = 35 | 38 73* 0 |730%*
i S N P 41 | 34 75 *| 1.2 738 F H E L i 44 | 37 81 *| 84 [726%
1] A 39 | 41 80 *| 6.0 |74.0 fn E IE = 40 | 42 82 *| 84 |736%
w B ® X 39 | 44 83 *| 120 |71.0 B T = 42 | 42 84 *| 120 [720%
g & 45 | 40 85 *| 96 |754 T E = 46 | 43 89 *| 16.8 |72.2*%
- = x 44 | 43 87 96 |77.4 m B B OB 48 | 45 93 | 18.0 |75.0
TOTAL | JBfZ | TOTAL | NET TOTAL | JIEfiL | TOTAL| NET
BE mAR
405 2 413 5 [3660 3
K £ OUT| IN |TOTAL |HDCP| NET K 4 OUT | IN |TOTAL HDCP| NET
i BE 8 38 | 40 78 *| 2.4 |756 X B & 17 40 | 40 80 *| 7.2 |72.8*
E ol E BB 41 38 79 *| 4.8 |74.2 % K B x 41 39 80 *| 84 |716*
w8 — = 41 | 39 80 *| 6.0 |74.0 £E B ®m = 36 | 44 80 *| 6.0 |740*
EoW JT 43 | M 84 *| 96 |744 X B ®E X 39 | 45 84 *| 84 |75.6
2 XA 5h 44 | 40 84 *| 72 |768 E H £ 46 | 43 89 *| 168 |72.2*
X HF B B 44 | M 85 | 12.0 |73.0 X & i 45 | 46 91 | 156 |754*
TOTAL | JBfiz | TOTAL| NET TOTAL | JBfiZ | TOTAL | NET
MAERR = e
406 3 418 6 3682 5
K 4 OUT| IN |TOTAL |HDCP| NET K 4 OUT| IN |TOTAL |HDCP| NET
M@ B 38 | 37 75 *| 48 |70.2 & % = 40 | 40 80 *| 6.0 |740*
A R M X 36 | 43 79 *| 6.0 |730 X HF ® = 44 | 40 84 *| 96 |744*
T E — 40 | 40 80 *| 6.0 |74.0 R s B I 42 | 42 84 *| 96 |744*
B o g — 40 | 42 82 *| 84 |736 £ K pi:3 40 | 44 84 *| 132 |70.8*
5 OB X ¥ 48 | 42 90 *| 16.8 |73.2 " E B A 44 | 42 86 *| 9.6 |76.4
E B - = 47 | 44 91 15.6 |754 HHE E A X 39 | 50 89 | 144 |746*
]




XTI N T K260 L0 HEE

BREEH . 20204113091 AWEH

& B ERER KL MY —2 57 6,470 Yard Par 72

B TOTAL | JEfiZ | TOTAL | NET TOTAL | JBfiZz | TOTAL| NET
AZEE L B
423 7 13678 4 430 10 [368.8| 6
K 4 OUT | IN |TOTAL|HDCP| NET K 4 OUT| IN |TOTAL|HDCP| NET
=z ® ® B 38 | M 79 *| 7.2 |71.8* = B F E 41 | 39 80 *| 7.2 |72.8*
£ A E 11 42 | 42 84 *| 9.6 |744* & R O £F 45 | 38 83 *| 10.8 |72.2*
X B B — 41 | 44 85 *| 12.0 |73.0* 2 H % 41 | 44 85 *| 96 |754*
I 8% B &/ = 39 | 46 85 *| 10.8 |74.2* m ORI 48 | 43 91 *| 156 |754*
I 0 & 44 | 46 90 *| 156 |744* o oXxX # = 48 | 43 91 *| 18.0 |73.0*
A F & 46 | 48 94 | 16.8 |77.2 N B - B 46 | 45 91 | 144|766
TOTAL | JiEfz | TOTAL | NET TOTAL | JBfZ | TOTAL | NET
—] [—
FHE BREA 1|
424 8 13648 2 432 11 13722 7
K £ OUT| IN |TOTAL |HDCP| NET K 4 OUT| IN |TOTAL|HDCP| NET
E B W — B 40 | 39 79 *| 48 |74.2* 2 E B X 45 | 40 85 *| 13.2 [71.8*
x B # B 43 | M 84 *| 13.2 |70.8* N R ) 41 | 45 86 *| 84 |77.6*
'3 E N 42 | 42 84 *| 96 |744* G N 4 46 | 40 86 *| 13.2 [72.8*
X B B E 45 | 42 87 *| 144 |726* % K B £ 44 | 43 87 *| 48 [822
& B & = 45 | 45 90 *| 12.0 |78.0 7w E — BB 42 | 46 88 *| 144 [736*
|8 B & X 46 | 46 92 |19.2 |72.8* mo B WM B 46 | 46 92 | 156 |764*
TOTAL | JiEfz | TOTAL| NET TOTAL | JBfZ | TOTAL| NET
SRR HfH
429 9 3730 8 432 12 1378.2 11
K % OUT| IN |TOTAL [HDCP| NET K 4 OUT| IN |TOTAL|HDCP| NET
F & & 42 | 41 83 *| 9.6 |734* r B i 38 | 39 77 *| 48 [72.2%*
wm B # & 44 | M 85 *| 6.0 |79.0 B T A B & 42 | 38 80 *| 9.6 [704*
x H O F# 2z 45 | 40 85 *| 10.8 |74.2* wm B Ox 8 X 45 | 44 89 *| 7.2 |81.8
i A 40 | 47 87 *| 144 |726* K O ® =B E 47 | 44 91 *| 132 |77.8*
X E B = 46 | 43 89 *| 10.8 |78.2* M H fi2 46 | 49 95 *| 15.6 |794*
M X E & 44 | 45 89 | 144 |746* &5 & H= B 52 | 48 | 100 | 21.6 |784*
}




TR T 7 RAE60® I E o

B H T 20204E11H09H RiEH

4 1 PBEARFEHE L MY —2 57 6,470 Yard Par 72

TOTAL | JBfiZ | TOTAL | NET
=<b
436 13 [378.0] 10
K % OUT | IN |TOTAL|HDCP| NET
¥ OB B 2 40 | 45 85 *| 36 |81.4
2 B = - 44 | 42 86 *| 9.6 |76.4*
B W & B 43 | 43 86 *| 12.0 |74.0*
#FO#E £ X 46 | 41 87 *| 108 |76.2*
E @B F - 48 | 44 92 *| 204 |71.6*
N B OB & 51 | 48 99 | 192 |79.8*
TOTAL | JIEfZ | TOTAL | NET
KR
438 14 3780 9
K £ OUT| IN |TOTAL|HDCP| NET
B HE B 5 39 | 38 77 *| 2.4 |746*
g R A 44 | 42 86 *| 13.2 |72.8*
7 B’ Bl X 43 | 43 86 *| 96 |764%*
Hm B B — 41 | 50 91 *| 144 |76.6*
BT A E H 52 | 46 98 *| 204 |776*
X # B 1T 48 | 50 98 | 16.8 |81.2
TOTAL | JIEfiL | TOTAL | NET
&
473 15 13938 12
K £ OUT| IN |TOTAL|HDCP| NET
5 || B - 41 | 47 88 *| 156 |724*
= B X 11 45 | 43 88 *| 120 |76.0*
1 =< I i - — 45 | 47 92 *| 144 |776*
B m 50 | 6] | 101 *| 19.2 [81.8F
A — 52 | 52 | 104 *| 18.0 [86.0%
T T i IR B —
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